Year 2 challenge worksheet – 19.1.21
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Jack says, Possible answer : Alex has 20 sweets and shares them Alex’s friends get

P N between 5 friends.

DA av

— - — Tommy has 20 sweets and shares them
For 60 + 4 the between 10 friends.

children will need
fewer sweets each.

)|
This is what he does: to exchange 2 Whose friends will receive the most
is is what he does: s T A0S sweets? Alex’s friends will

so they can put get 4 sweets each
one 10 and 5 How do you know? whereas Tommy's
ones into each friends will only

group. get 2 sweets each.

40+2=20 )
Is it possible to work out 60 + 3in the

same way?
Prove it.

| can work out 40 + 2 more because

easily because | know
that 40 is the same as 4
tens.

Tommy is sharing
with more people
so they will get

©F,

Is it possible to work out 60 + 4?
What is different about this calculation?
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